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Answer any five questions
All questions carry equal marks

0 -

dlf’f'erent from a four stroke cycle engme"
b)  Explain the significance of stroke to bore ratio on IC Engine performance. [8+7]

2.a) Discuss the various characteristics of an efficient cooling system.
.. b What are the l]mltatIOUS of srmple carburetor and how to rochfy thcm’? Fxplam [8+7]

b) (8+7]

42) What is the difference between physical delay and chemical delay? Explain its
importance.

Explam the phonomonon of Knock in C I ongmes [8+7]

Pt

Develop an expressfon for the ca!culatron of mdncated power of an encrme . L%

" b) “A four” cylmder four stioke petrol engirié has a 10 cm bore, 15 cm stroke and uses a’
compression ratio of 6. The engine develops 25 kW indicated power at 2000 rpm. Find
the mean indicated pressure and air standard efficiency. Also calculate the fuel

consumption per hour, if the indicated thermal efficiency is 30%. Take the calorific
value of fuel as 42 M.ng [7+8]

-6.a) Compare and dtffcrcnilateamong the fan blower and compressor Los

“ b) /Thefreedir deIWE:red by-a'single stage, double acting air-compressor mcasuré:d at 1,013
bar and 15°C is 14 m’/min. The pressure and temperature in the cylinder during
induction are 0.95 bar and 32°C. The delivery pressure is 7 bar and the index of
compression and expansion, n =1.3. If the clearance volume is 5% of the swept volume,
calculate the indicated power and volumetric efficiency. [7+8]
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Jcompresser. /4~ Wi & -
b)  An axial flow compressor havmg elght staoes and wnth 5{)% reaction compresses air in

the pressure ratio of 4:1. The air enters the compressor at 20°C and flows through it
with a constant speed of 90m/s. The rotating blades of compressor rotate with a mean
speed of 180m/s. Isentropic efficiency of the compressor may be taken as 82%.
Calculatc i) Work dono by the machme ||) Blades annles [8+ ?]

What is degreo of reactlonq Derwe the cxpressron fOr dcgree of reactlon for axial ﬂow gl




Explain the working principle of Libr-Water vapor absorption refrigeration system with

a neat sketch.
In a 15 TR ammonia refrlgeratlon plant, the condensing temperature is 25" C and

evaporatmg tcmperature 1s 16 C The refrzgerant ammoma is sub Loole,d by SU C

CPV =58 kJa’kg K respectwe]y
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